Dose Counting
The frequency which is divided into number of doses which then equals weeks. 
To accommodate changes in frequency within the month you would put two entries for that month. 
The frequency of administration determines the number of rows a month will take up.

Example
January you started out as 7 days a week and the client took 14 doses 
Then was changed to three times a week with 9 doses taken
1st row would have January - 14 doses - 7 for frequency = 2 weeks
[bookmark: _GoBack]2nd row would have January - 6 doses - 3 for frequency = 2 weeks
